ﬂh Division (International) with a Helper Grid

Name:

Solve each problem.

1) 520 : 4 = 2 632 : 8 =
3 676 : 9 = 49 820 : 8 =
5 706 : 6 = 6) 864 : 6 =

Answers
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1-6 [83[67][50[33]17] 0 |




Division (International) with a Helper Grid Name: Answer Key

Solve each problem. Answers
1) 520 : 4 =130 2 632 :8 =079
-4 -0 1 130
12 63
-1/2 56 5 79
00 702
-0 -172 3 /51l
0 0
4. 102r4
5 117r4
6 144
3 676 : 9 =075r1 4 820 : 8 =102r4
-0 - 8
67 02
-16/3 -0
46 20
-14/5 -11/6
1 4
59 706 : 6 = 117r4 6) 864 : 6 = 144
-6 - 6
10 26
-6 -124
4/6 2 4
-14/2 -12/4
4 0

m 1-6 [83[67][50[33]17] 0 |
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